SHIEE %170: 48250
17 TE ~ RERTH ~ |55 2L 2 TEEL8201HE>
ﬁ EL-
BE|ER| A | S |E = . = 3 SoF |
3 L F 2h ol W He 4k
H *;,%. ; ;E_ %*XTT; ﬂi1ﬁ/§§.’] %a)ﬂﬁ 1 2 3 2 5 6 pre=m 1 P
= 3
1K ;;;f 2 EREME0 B GEANE(3SH) A1 K2| A3| A4 | k5| A6 |12:15| @] 15:20
= — Py
2 & |m A BN FFRiER d1| k2| k3| k4| k5| de|12:35) @] 15:50
3 | b v
4 | H HEYDHE
5 A cEdmA
6 | XK REKE
1 - - -
i R ERSSHMERHD AR SEEERTRERE k4 el D14
[ IF IESUFUTR  ARGL HEHT16:45CEIEAL) 7K | K2 | K3 | K5 12:35) 3| 14:35
% 3 B ema O(MESE) BEDLL 2 ME ) 1 e
8 Kl 2 U wsem(1-2%) KA
2
o |& % EERTQ(MESE) £1] 22 23 ‘i“ #5)  [1235 )| 1450
10+ BERT(EESE) ‘ ‘
1T
18
5 A
1218 ;; L NRHERD SEERG A1/ R2| A3 A4 A5 A6|,.15/ 21520
T
13 ng BEAKRD *%XF13:30~ PTAZ 1| de2| %3 | k4| k5| k6 |12:15) @] 15:20
1 g OEA. o7 P
14K gl L B SEERECOSE) OB TN AR K1|7Kk2| k3| k4| Ks| |12:15/@ 14:10
5| 3
15| & g; 2 BFEASQ WK SFESEMBE(KEN) K1| K2| K3 | K4| AK5| A6 |12:15) @] 15:20
5| 2
16 | & g; 2 BERKD WK 2EGERE(HEE) 21| 22| &3] 24| 25| £6|12:15/@|15:20
17 | hEEEY 8~
188
19| B g‘:‘ SHERRBSD NEERD A1 B2| A3 B4| A5 A 12:15% 15:20
20 K;‘;‘ HERKRG 13:30RH@ED K1| k2| k3| k4| K5| K6 12:15% 15:20
i ey A
NE S SRR SR RWAL BERTI6 40 1| k2| k3| k4| K5 12:35% 14:35
¥ 2 L B1EERES- BUOPUES SRESQRERE-2 St
2 K §e Ly e RRNS2(RRNE- W) A1 K2 | K3 K| EBE 1215 D) 1529
2 e MRS =
2% |2 et 21| #2| 23| 4| 25| £6 /12353 1550
24 |+ ff;zmm&nﬁm
25| B ff;zmm&nﬁm
A > g
26 # ﬁ?ﬂ?ﬂ%&?&? Bi1| B2| B3| A4| A5| A6|12:35/®|15:50
b 5
27X C?flgﬂggfgf WA K2 | 3| k4| k5| K6 (12:35/@)|15:50
1 b g EpE e
28 k| | e i Ks| K1 | k2| k3| ke |12:35/@]14:35
%2 PR =n mE 12 *
29 | K | % L AT RN BE W | BE | XE 7L | * |12:05
& EE de | mE *
2 - TR
30 | & ;?J = ﬁmm*E?ZFZEE BRNE(AR) HEHEL mE | 2| Ao | Dl 12:35|@ | 13:30
& Ef | EE
31| hERERYS8~OK
) 1%25[35
BEHRS 20|20 20
SUFEH | 18] 18] 16




